BIC

5x10°

Relative Probability

107°107*1020.01 0.1

Window Half—Width (km/s)

2x108

108

2x10°

5

10

10 100

1

10*

000

1

rm609 2/(407654 5229)=0.950

F— ' 1T T T T T T T T T T T T T T U
BIC 44999253 ABIC 0.000 AlogP 0.0000
i | X* 382443.41 Ax* 0.000 AlogP 0.0000 |
= ]
I ; ABIC —496564 _
i : N —496564 |
5229 | 5229
A ' ACs
1 1 1 1 ] 1 1 1 1 ] 1 1 1 1 ] 1 1 1 1 ] 1 1 1 1 ] 1 1 1 1 ]
10 20 30 40 50 60

rm609 2/(407654 5229) 0.950
FE~ ' T T T T T T T T T T T T T ' ' 1§
F , BIC 449992 53 ABIC 0. OOO AIogP 0.0000 1
e R ' Z 382443.41 Ax 0.000 ‘AlogP "0.0000 3
E L 3
60

Fe2 0% 1890+210 km/s

rm609 BLR 9000 NLR 900 km/s
F—> - T - - - - 1 T ' T T T T T T T 1T T T T T T T T T T A

60 iterations

BIC

BLR

Fell

NLR

kdh1 8-0ct-2021 08:00



